EARAROBREBRT —5 XN—ZXBISH—F

2022687H (X)) SEIAH?2H

L ~ OB R

C1C2 UY5R—fig

\(9&1@1 = ‘[%EH%F&] | 5 w0 78

[AE%] 17 :2,000,000 § ~ 237 :800,000 . 37&:500,000H  435:300,000 . 53&:200,000 9

RS R 1 BF (F8) g4 (BE) | BBIEGI | E3F |SIEH | AR | AE | BN i) / BE / £EWNS
~ RRIKE :09. -4-4- . - FHEahz (K#H)
o—)b 4t 6 R 2(0_9)0 5-4-4-2 | 40.0 8 21+531) peEs
'>./0704 B:9(FT5=— BREH B RNU—R—RSVF
“ . S e :09. -2-1- . - JEERRIK (KFH)
JaTvIEy—L ®6 5% | EE (e S e
LIVINATA—H— F:HIRIU—X RS w R
fhEAE :09. -13-12- . - EFE (1))
U7 wF B4 i 2 8?) 9 14-13-12-11| 39.0 2 (51:)30) %ﬁﬁc
T—=ILRI—R B:5SORIADIA FIITHE
~ P, R 4 | BEAH 2:10.0 7-7-5-4 | 40.8| — 4 | 449 |BBHEK (KH)
417113/ 1Y EoPD—JLR 57.0 ©E) (-17) | BFESLAES
R:D—JURI—R 8:5T)E— TUR=1F 77— In
= s EHRZE :10. -3-3- . - EEZ (KH)
5 7| F—F—<v1U it 4 A= (21 110/23) 3-3-3-3 | 41.4 1 :1+913) /J\E’Am
RiTSVIIAR BRAAT4—RAE— /=Y ITr—1L
e 4 ¢ | AHIESE 2:10.4 8-8-7-5 |40.9| — 3 524 | KEFIHE (KH)
617114 70O 57.0 (3/4) (3) | EHHEX
RiIvRIVTA B:FH—FIL S—L— - I\ - T7—LERS
N EHE 1. _6-8- . — AmE— (KH)
1 > MESZS A # 5 | B o S A R e | ke
R:Iv IRy~ 8:YIAMIVIY BRKS
N N [FEESpEE] : -9-9- - NEEE (KH)
8 3 U4 LA 4 8l 2(;151 10-9-9-9 | 41.4 7 (4_916) M}ZEEE
RiVa—NFF—/ B:IYALFZS5A U-M-A
_ st 4 | HB)IE 2:11.4 15-15-14-13| 40.3 | — 5 | 449 |EIEBE (KH)
9/8/16) 72~ MUX 5.0 e () | SPEE
RFVVY/FEF BHALUYMEYT AR =B
4 | EESEE 2:12.0 12-12-10-10| 41.7 | — | 16 | 474 |=EEE (KH)
10/5]9|92—NvIX e #56.0 3) “2) Schig
RNV vH—)L 87— A 8L
SAHTwE— 4 | BREX 2:12.5 4-4-6-6 | 43.3| — 14 | 488 |TREAE (KH)
11815 7197 v+ 4540 @172 4y |EEEZ
R:AN/UFp—R B:F—Y3A hARIS
<, P “EBE_H : —14-13- - TREEANE (KH)
N . B2z = IS v 8 e 2(713 13-14-13-14| 41.5 15 21_429) i
RIIVIATA—H— BERARNUY—HTIL KE R
» ~ 44 | BEX 2:13.0 16-16-16-16| 41.2 | — 10 | 475 |HER (KH)
138 8 | AT M=V 5.0 @ oy |BlET
RiAWKR B:bhoT7—F7ozA BHF X
< p AN 113, -11-15- . - FHRE (KH)
1 5| 7—ILEVRI— v 8 TS 2(31/34)1 11-11-15-15| 41.9 13 (5+295; =
RYVYRUIURIR B:AXHHAUETY Kk B
= s, ERER 13, -10-11- . - ks (KFH)
155110 ISAVT RS it 4 R 2(123)5 9-10-11-12 | 43.0 9 21_713; o
R:FI—NURYIL 8: 751 VITNIL—Y "HBT7—L
—~,—~ P TEF— : -1-2- - BB (IHE)
161011 EO0/50%Y v 8 - 2.(13@.1 1-1-2-6 | 45.1 6 (5_173) J:é?ﬁ:
R:IALNSRYIR B:EAIATVER S BRAS
@ 11— —BBIEfI
13—7+— 1,2,7,15, (4,12) ,13,14,10,3,5,9,11,6,16,8
20—7F— 1,2,7,(12,15) ,4,13,14,3,10,5,9,6,11,16,8
30—7— 2,1,7,12,13,15,14,4,3,9,10,6,11,16,5,8
43— — 2,12,7,13,14,(1,15) ,4,3,9,6,10,16,11,5,8
o ILRE
B B 12 3,640 JA R 2-12 1,160/ % 5E 1-6 4,160 3EE 2-6-12 3,240
7B B 12 540 6-12 1,450/ B 6-1 9,320 3EH 12-2-6 47,340M
2 140 2-6 3004 5B & 2-12 4,050
6 1604 =51 12-2 14,570

ABIC OV TRUTEREERRODDZE. THRIIZEL.




